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Normality Worksheet

1. What volume of 3 M H3PO, is needed to react with 40 mL of 2 M KOH?

2. How many equivalents in 300 grams of Mg(OH),?

3.  What is the normality of a 4025 ml solution that contains 300 grams of H,SO5?

4. What is the molarity and normality of 300 mls of a solution of H,S (aq) that reacts with 70 mls of
Ba(OH),?

5. 500 grams of KOH are dissolved in 2500 mls of water and react with 700 mls of 2 M H;PO,
a. Find the equivalent weight of KOH and the number of equivalents in KOH.
b. Find the normality of the basic solution.
c. Find the amount of solution of KOH in mi that you will need to react with the 700 mls of
acid.




